6500/6880 Instant Access/FEX 4A|2| mjiZ! x &
= 2x 4

=X SHZA(FEX -> ZHE E2)

2.1.1. QIE{H|0|A 7| 2F

2.1.2. THZ! ZH X

2.1.3. I|Z/0| FEX CPUE Z|C|EIMEL|C].
2.2. ZHEE

2.2.1 MAC &4 EH|0|E

2.2.2. THZ! ZH X

2.2.3 ELAM

W7 s & M HE(ZHEER -> FEX)
3.1. HEEH

3.1.1. IiZ! ZHH

3.1.2 ELAM

3.2. FEX

3.2.1. I{Z/0| FEX CPURE 2|C|BIME]L|C}.
4. 29k

Ol 20l ME Catalyst 6500/6880 Series Instant Access HIE T 0lM TiZ! 2T EXME HAS
2redod| CHal AR LICEH

1. H|E HE

A& K= Instant Access 7|BF HIE QT E QI8 A7, VNTAG A L 1fZ! Z T Z =lof CHal 2
3| ol Aol E&LILCH

Catalyst 6500/6880 Instant Access& Instant Access OF7|Ell%{0i| CHEH XFA|EH LHE 2 CHS AOIE

g AZTSHAAR.

Cisco Catalyst Instant Access Solution B A

Ol EE=ZX|of CiEr &7t EAM0| 2F 2r=E[}&LICH


/content/en/us/products/collateral/switches/catalyst-6800ia-switch/white_paper_c11-728265.html?cachemode=refresh

WES VLAMNLO:
MAC: DO00.0000.0001
2 10.00.1

Po255
Te1fo/s 1y Te2/o0/s

. ; Tel/0/6 @ Te2/0/6
st il Po256

Te1/0/13 % / Te2/0/13
? Po101 g

%
% ¥
% 5
% f
% )-'f
%
h /
.\_ r
%, F
.\_ i
1 .-
i

Pol

Te1/0/1" /Te1/0/2
—_—

Gi1/fo/1 \Gil/0/2

K, %

Fy %

& %
—

MAAC: OD00U0000.0002
Iz 100000, 2

Z1: of7|ofl MBE EHAHE B A% E£ Cisco TAC 2IX|L|0{9] E|E Z S olAilet &EE/LICE.
& of7|of MA|E HE & LUEE HZE o2 AE#50{™H Cisco Catalyst 6500/6880 71E 2401
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6880#configure term nal
6880( confi g) #service internal
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6880#t est platform software console fex <fex-id> enable timeout <m nutes>

2. 3! & 2A| sHE(FEX > HEED)
0| MM M= Instant Access/FEX(Fabric Extender) QIE{H| 0| A (Gi1/0/10]| AZEl A E )0 A
7

Cisco Catalyst 6500/6880 A|l2|= ZAEEHZ S| ! S &M =T THZ! MY 20 CHal AHEF
LICE.

2.1. FEX

I
o
9'|_|
]
ol
n
{0
oz
e
mo
Pl
0o
ot
1
50

FEX /28l|4& QIE{m0|A(Gi1/0/1)0 M IZ!0] =& E|=X]
&LCH

2.1.1. elE{Hjo|A 7R E



o7 &2 MM T FEXO| IiZ/0| EA|Z|=X| &olstL|C}.

6880#show i nt gi 101/1/0/1 | in packets input
101 packets input, 151894 bytes, 0 no buffer

6880#show counters interface gi 101/1/0/1 delta | in InPackets|InUcastPkts|I|nMastPkts

1. | nPackets = 104
3. I nUcast Pkts = 102
4. I nMcast Pkts = 2

1 MAof e MAC &4 0| ZHEZE 20| MEF 0|2 0{X|2 2 FEXC| MAC A H|o|22 &4 H|
01 U&LICH.

2.1.2. =) &

Z7 ERESEIS Q8 FEXOIAM THZIS ZHR{5HOF 5t 3R FEXOIA =X SPAN MM 7 A&
2 olaLlch ag{H mZ! 2|7} FEX RFA0IAM ASELICH =9 ©F AFEHS SPAN CHAH0| SPAN
AAQ9L SUE FEXO| AZEICHE ZWILCH

6880#attach fex 101

Attach FEX: 101 ip:192.1.1.101
Trying 192.1.1.101 ... Open
User Access Verification

Password: cisco

FEX- 101>enabl e

Password: cisco

FEX- 101#conf t

FEX- 101(confi g)#nmoni tor session 1 source interface gi1/0/1

FEX- 101(confi g)#nmoni tor session 1 destination interface gi1/0/2

Ol Zm|zeo|M2 mHZ! ZXH(F, SPAN A|M)7} 688001 A 2 T El= AlLt2|22t CHELICH

6880#configure term na
6880( confi g)#nonitor session 1 source interface gi 101/1/0/1
6880( confi g) #nonitor session 1 destination interface gi101/1/0/2

2! {7t FEXO| FAIE 22 2! 2HE FEX A0 ME +#EI0 FEXS HE S8 ZHo] S 4
217t gl 72 Ch Tl A ThZl0| 2HEHEILICH 1! 2447+ 688001 M S g B H2(F
W 0l 2 %), e B4 KPRl THZ! HAJE 012 0ix|0), IE Baiet FEX 2ol B4 2x7} 2l
A9 B2 Hato] HAVE & BILIC) Of SALS A S5 e SPAN LHSE BE % Erexol 62

FEXO| 2] 71 dE SPAN MM - 2 E 7I2E= 01t Z&Lch

6880#cl ear pl atform hardware capacity rewite-engine counter
Clear rewite-engine counter for both sw tches [confirni

6880#sh pl atform hardware capacity rewite-engine performance | in SPAN RX
1/5 0 0x210 SPAN RX O 0 0
1/5 0 0x211 SPAN RX 1 0 0

(...)
ZAE B2{olAM XK TAE SPAN MM - SL2ES 2XIE T 4ol SEELICH 2xls #4 VS



MAIOH % 3H%| 2botE £l 0laf|A HEE RE0IM 2HELICH (0f: Al 2/2 8 5).

6880#cl ear pl atform hardware capacity rewite-engine counter
Clear rewite-engine counter for both sw tches [confirni

6880#sh pl atform hardware capacity rewite-engine performance | in SPAN RX
(...>

2/5 0 0x211 SPAN RX 1 0 0

2/5 1 0x210 SPAN RX 0O 0 0

2/5 1 0x211 SPAN RX 1 0 0

2/5 2 0x210 SPAN RX 0 102 0

(...)
2.1.3. I§Z!0| FEX CPUZ Z|C|&|MEL|C}.
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#10: Instant Access A9 x| ABH0| Q= AR ZLIERE = ZEQ 24 ARX|0IM CIHOE A
&S oF & L|C}. 'session <switch-no> H& S Al&l5lod *E”OI CHE AQIx[o 2O lF Lt 0=|7|A‘|
switch-no= A2|x| 304 s & LICHO: interface gi2/0/1, switch-noE 2; QIE{H| O|A 5/0/112] &
2 switch-no= 5%ILICt.)

6880#attach fex 101

Attach FEX: 101 ip:192.1.1.101
Trying 192.1.1.101 ... Open
User Access Verification

Password: cisco

FEX- 101>en

Password: cisco

FEX- 101#conf t

FEX- 101(confi g) #access-list 100 permit ip host 10.0.0.2 host 10.0.0.1 | og
FEX- 101(confi g)#access-1list 100 pernmit ip any any

FEX- 101(config)#int gi1/0/1

FEX- 101(config-if)#i p access-group 100 in

|

FEX- 101#debug pl at f or m cpu- queues | oggi ng-q

Jun 7 14:05:23.059: Pak recvd on LOGA NG Q Local Port Fwding L3If: L2If:G gabitEthernet1/0/1
Dl : Ox1E19, LT:7, Vian:10 SrcGPN: 1, SrcA D: 1, ACLLogldx: 0x1, MacDA: 0000. 0000. 0001, MacSA
0000. 0000. 0002 I P_SA:10.0.0.2 IP_DA 10.0.0.1 IP_Proto:1 (FEX-101)
TPFFD: F3800001_000A400A_01A00076- 00011E19_5F5F0000_00002001 ( FEX-101)
( FEX- 101)
Jun 7 14:05: 23.059: Raw FEX packet Dunp: (FEX-101)

Jun 7 14:05:23.059: 00 00 00 00 OO 01 00 00 00 00 (FEX-101)
Jun 7 14:05:23.059: 00 02 08 00 45 00 00 64 04 D3 (FEX-101)
Jun 7 14:05:23.059: 00 00 FF 01 A2 C3 OA 00 00 02 (FEX-101)
Jun 7 14:05:23.059: 0OA 00 00 01 08 00 42 9D 00 13 (FEX-101)



Jun 7 14:05:23.062: 00 00 00 00 00 00 38 96 03 04 (FEX-101)

MY E A™ME &lsied™ o] #Q(DI 7|& - o]l 210 MESE CH4 IHA 7|F)g A#EL|ct of
7|M st13t St2E AEH ZEOf SE ST Te1/0/1 & Te1/0/22 ZE Aol &8 Y213t

FEX- 101#show pl at f orm port-asi c dest-map i ndex Ox1E19
Ports: Tel/0/1 St1 Tel/0/2 St2

ZE Mo HEEHZE AISE ZEE & Ql5tE{T(
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'show etherchannel summary’

et s =
ol 1Po| 22 MAC F471 ALRE) IP THZ!

S
=
—

FEX- 101#show et her channel | oad- bal ance
Et her Channel Load- Bal anci ng Confi gurati on:
src-dst-ip

Et her Channel Load-Bal anci ng Addresses Used Per-Protocol:
Non-1P: Source XOR Destination MAC address
I Pv4: Source XOR Destination |IP address
I Pv6: Source XOR Destination |IP address
|
FEX- 101#t est et herchannel | oad-bal ance interface pol ip 10.0.0.2 10.0.0.1
Woul d sel ect Tel/0/2 of Pol

HEEZEPZ MAL|= miZlof= Q1B A QIE{H O|AE HIESH= VNTAGYF F7HEIQi&LICE o] 2t
2 Eolste{m 2 M2 EAZ2 WEAMAIQIE{H O|A Gi1/0/10] VIF+1 AFR).

FEX- 101#show pl atform fex ucast-entries

vi f sw_ i db port nane CPN  handl e res_index
1 0x5CAC278 G gabit Et hernet1/0/1 1 0x5 0x30F0000
22 HEEDY

EEd o TE5tH A x| QTlof ofs F7HE XM2|x|H, A2 Aok &
= 7|.

1

IZOE 210 NMBE M 7|dtoZ IfZI2 QIE{H|O|A Te1/0/28 Sdl FEXE LI
LICt CHE Zof o{H ZHEE] QIE{m|0|A 7} AAL|of UEX| &Qlste{M S HHEE Al

6880#show fex infra | in FEX Uplink| FLGS
FLGS:
Tel/ 5/ 13, FLGS: Ox3F
FEX Uplink: Tel/0/1
Te2/5/13, FLGS: Ox1F
FEX Uplink: Tel/0/2

72 Te2/5/13 ZEOM A2 2 C}S &Qlo| 7hs &Lt

2.2.1 MAC 4 E|o|E

AEEHM HZE +4I6tH MAC 4 S&0| oED SAE MAC FA7HZE EZ=0M &
SELICHE E HHtOIXM o] of = StLEF EA[F)



6880#show nmac address-table interface gi 101/1/0/1

Legend: * - primary entry
age - seconds since |ast seen
n/a - not avail able
S - secure entry
R - router's gateway nac address entry
D - Duplicate nac address entry

Di spl ayi ng entries from active supervisor:
vl an mac address type | earn age ports

* 10 0000.0000.0002 dynamic Yes 10 Gil01/1/0/1
(...)

2.2.2. HZ! A

ZQIE 212001 MBE OIZ, THZ! HAME CiSn 22 LAz HEER o #EELULCH

6880#configure term na
6880( confi g)#nonitor session 1 source interface gi 101/1/0/1
6880( confi g) #nonitor session 1 destination interface gi101/1/0/2

CHal QIE{m|o|A0f THZ!O| E A= THZ!O| FEXOIM ZHEEEE d3Ho 2 MEE[/{&LICH

FEZE SPAN MM 2ol LIF miZ! X E Fdoto] LT HEo| I g MY = U&LICH

6880( confi g)#nonitor session 1 type capture

6880( confi g- mon- capt ure) #source interface gi 101/1/0/1

!

6880#noni tor capture start

YSPAN- SWL- 5- PKTCAP_START: Packet capture session 1 started
6880#show noni tor capture buffer

1 IP: s=10.0.0.2 , d=10.0.0.1, len 100
2 IP: s=10.0.0.2 , d=10.0.0.1, len 100
3 IP: s=10.0.0.2 , d=10.0.0.1, len 100
4 IP: s=10.0.0.2 , d=10.0.0.1, len 100

(..)
0| 7|soi CHEt RtMIEH LIS CIS S & X5 A A|L. Mini-protocol analyzer
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mZlo| Z4X =™ ol AA(F, VIFOHEE 7|He 2 +¥E|= FEX QE{HO|AE SHIZH 7IE]
7l d<), HZlo| MEE|l= {7t ZHEE L

0| of|od M= CH7| VSS-chassisO| A THZ! S 4= AlEHL|CE.


/content/en/us/td/docs/switches/lan/catalyst6500/ios/12-2SX/configuration/guide/book/mpa.html
https://www.cisco.com/c/ko_kr/support/docs/switches/catalyst-6500-series-switches/116644-technote-product-00.html

Mg 2aQletH

0

6880#renpt e | ogi n standby

Trying Switch ...

Enteri ng CONSCLE for Switch

Type "~CrCMC' to end this session
User Access Verification
Passwor d:

6880- sdby#"e

St andby consol e enabl ed

ELAM Al&:

6880- sdby#show pl atform capture el am asic eureka slot 5

Assi gned asi c_desc=eu50

6880- sdby#show pl atform capture elamtrigger nmaster eu50 dbus dbi ingress ipv4 if ip_sa =
10.0.0.2

6880- sdby#show pl atform capture el am start

cap_conmands: Default ELAM RBI PB1l added to |i st

'l'

{Z!0| EAE M MEE|
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6880- sdby#sh pl atform capture el am st at us
ELAM Mode: | ocal

| D# Role ASIC Slot Inst Ver ELAM St at us

eu50 M EUREKA 5 0 1.3 DBl _ING Capture Completed
eu50 S EUREKA 5 0 1.3 RBI_PB1 Capture Completed
| D# ELAM Trigger

eu50 DBl _I NG FORVAT=I P L3_PROTOCOL=I PV4 | P_SA = 10.0.0.2
eu50 RBI _PB1 TRI G=1

6880- sdby#show pl atform capture elamdata | in | P_SA| | P_DAl SMAC| DMAC| SRC | NDEX| DEST_I| NDEX| dat a
DBUS dat a&col on;

SRC_INDEX ..cccececoccccccccccsccs [19] = 0x2000 [Pol0l1l[Tel/5/13,Te2/5/13],Gil01/1/0/1]
DEST INDEX ..........ciiiin... [19] = OxC [Tel/ 1/13]

DVMAC . ... = 0000. 0000. 0001

SMAC ... = 0000. 0000. 0002

IP.SA ... . = 10.0.0.2

IP DA ... . = 10.0.0.1

RBUS dat a&col on;

DEST INDEX .cccccececcccccccccccscs [19] = 0x380 [Switch/Router]

Zix £330 et MAC/IP =71 e THZ(EAIE CHE)O| FEX2| Gi101/1/0/1(DBUS
SRC_INDEX HE)HM =412l HEE2{0of| 24 E Po1012 Sl 945%&401| M gL LCH
o| %! VSS CPU(RBUS DEST_INDEX ZE)2 MestE Zdo| Z™HE|i&LICH

I VIFQL AA QIEA Zhol| OHEE|= 22 VNTAG ZEIR7E &5t &olg &~ Ql&LICHOl
A2 VIF=12 FEXQ| ZE Gi1/0/10|M fRLIFHAE ZH|lg MEE M AFEE). operational state
always 2, type2 RLIFIAE E= HE[FHAE):

6880#t est platformsoftware switch virtual vntag_ngr vif-map vif 1 detail
VI F | NFO
VIF# 1



Type UNI CAST VIF
LTL# 2000
Oper Status # 2

mZl =& A sHE(HEEDH -> FEX)

O] MM M= ZHEE Cisco Catalyst 6500/6880 series Q11| A
Access/FEX(Fabric Extender) IE{H0|A S| THZ! S &0 CHa MY

31. HEEXY

Z = AlEl Z=|CH Instant
grLlCt.

3.1.1. I Yx

Catalyst 6500/6880 A 9| %[0l A TZ/S MExoz #tlzhtﬂ 2015t 7| 2l S2IE/NVSS A9
E EdExgdle & &0l APQE'L—IEP olzq8t &oll= Tzl ZHR{(SPAN MM S)7t =& E
L|Ct. o|248t Eoil CHet AtMIEH LHE 2 CHS AFO|E % FRSHAAI2.

SPAN, RSPAN 3! ERSPAN

HMEE | CHEt £ 8 VIF AHXE AFR5104 FEXE HEEl=X| & A
e eladAa ZE AE(E, mfZlo| £4AI1E QEHO|AE XElste ZY TN CiEt HE
=N

=

£ 11: 6500/SUP2T 2! 688001 & &t ELAMO]| CHEH AHAM|SH LI 2 CHS AIO|EE R XRFHAAIL.

Supervisor Engine 2T ELAMO| XZ & El Catalyst 6500 Series &2 2| x| A&}

ol ool ME &8 ELAM Zim|agilo|MlL|ct. (& EH7'0| CPUNIM AlZtE|= B2 EB[7HAHM
'shim' 7| =7} At ELICH S EEfEo| Z< 0| 5'I°4 A || eL2):

6880#show pl atform capture el amasic eureka slot 5

6880#show pl atform capture elamtrigger naster eu50 dbus dbi ingress shimipv4d if ip_sa =
10.0.0.1 ip_da=10.0.0.2

6880#sh platformcapture elamstart

6880#sh platform capture el am status

ELAM Mode: | ocal

| D# Role ASIC Slot Inst Ver ELAM St at us

euso M EUREKA 5 0 1.3 DBI_ING  Capture Completed

eu50 s EUREKA 5 0 1.3 RBI_PB1 Capture Conpl et ed

| D# ELAM Tri gger

eu50 DBI _| NG - FORMAT:OTHERS SHI M _ETYPE=E8_SHI M_ETYPE ETYPE=I PV4_ETYPE | P_SA

= 10.0.0.1 I P_DA=10.0.0.2
eu50 RBI _PB1 TRI G=1

6880#show pl atform capture elamdata | in | P_SAl | P_DAl SMAC| DMAC| SRC | NDEX| DEST_I NDEX| dat a
DBUS dat a&col on;


/content/en/us/td/docs/switches/lan/catalyst6500/ios/15-0SY/configuration/guide/15_0_sy_swcg/span_rspan_erspan.html
https://www.cisco.com/c/ko_kr/support/docs/switches/catalyst-6500-series-switches/116644-technote-product-00.html

SRC_INDEX ..ccccccccsscccccccnnns [19] = 0x380 [Switch/Router,Po255[Te2/5/1,Te2/5/5,Te2/5/611]

DEST INDEX ... ovveeaan [19] = 0x0 [Tel/ 1/ 1]

DMAC ... . = 0000. 0000. 0002

SMAC . ... e = 0000. 0000. 0001

IP_SA .. = 10.0.0.1

IP_ DA .. = 10.0.0.2

| P_DATA [ 224]

RBUS dat a&col on;

DEST INDEX .cccccceccccccscccccccscs [19] = 0x2000 [Pol0l[Tel/5/13,Te2/5/13],Gil01/1/0/1]

IZ!0| CPUOM =41 Z| A2 H(DBUS SRC_ INDEXS| £ 2|R|/2t2E & =) M AE2 Po101(A
EEDE FEXS 9485lE ZE D)2 Sl S8 CHS FEX1012] QIE{H 0|A Gi1/0/1€ S8l ™

St ALict

0| A0l ABEIE VIF AlERH: B Sall 2lg £ &LICh 047|M LTL 2H2 RBUSOIA
DEST_INDEX ZEZ 7}x{gLIch

6880#t est platformsoftware switch virtual vntag_ngr vif-map Itl 0x2000 detail
VI F | NFO

VIF# 1

Type UNICAST VIF

LTL# 2000

Oper Status # 2

EED{ol o|Td4 QIE{HO|lAE ZE #M'H0|22 of24E FHE o
A8 ElER| &ole £ l&LC
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6880#show et her channel | oad- bal ance

Et her Channel Load-Bal anci ng Confi gurati on:
src-dst-i p enhanced
npl s | abel -ip

Et her Channel Load-Bal anci ng Mode on FEX Modul es:
src-dst-ip

Et her Channel Load- Bal anci ng Addresses Used Per-Protocol:
Non-1P: Source XOR Destination MAC address

I Pv4: Source XOR Destination |IP address

I Pv6: Source XOR Destination |IP address

MPLS: Label or IP
!
6880#t est et herchannel | oad-bal ance interface pol0l ip 10.0.0.1 10.0.0.2
Conput ed RBH: 0x3
Wul d sel ect Tel/5/13 of Pol0O1

d=gefoli Thaiol »4lEln FEX 2 AL olEfulo|A2 RS AlLEl20l FEX XIS st
£ e MM 20f MAIE 23t LxIFLICH ASE R LB 0|2 2.1.3(FEX CPUZ T Z|C|
M)t g E 2ot

3.2.1. I{Z10| FEX CPUZ 2IC|2l|MELct.
O] M2 whAloj CHEr RIMISH B2 2.1.3 MME HXFHAAIL.
O| ol ME ZHEE oM = AIE 2! S THR{E7] {I8H o] x|y oM 0] FEXOIAM =&ElL|Ct.

=
(QE{HO|A T} X F 3.1.20]1 MHE HZE SHI=E A AEE B2 ACLO| &Y 2IE{m o|A 0 HAZEFEL
ct.)
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6880#attach fex 101

Attach FEX 101 ip:192.1.1.101
Trying 192.1.1.101 ... Open
User Access Verification

Password: cisco

FEX- 101>en

Password: cisco

FEX- 101#conf t

Enter configuration conmands, one per line. End with CNTL/Z.
FEX- 101(confi g) #access-1ist 100 permt ip host 10.0.0.1 host 10.0.0.2 | og
FEX- 101(confi g)#access-1ist 100 permit ip any any
FEX-101(config)#int tel/0/1

FEX-101(config-if)#i p access-group 100 in
FEX-101(config-if)#int tel/0/2

FEX- 101(config-if)#i p access-group 100 in

FEX- 101#debug pl at f orm cpu- queues | oggi ng-q

debug pl at f orm cpu- queue | oggi ng-q debugging is on

#3: Instant Access A2|X| ABHO0| = B HEEZ{0l CHEF 237t U= 2% MH ClHI

7t A>MELICH 'session <switch-no> BHE 2 A& 50 ABO| CHE AL|X[o 2O QIEFLICH 07| M

SW|tch noe A x| HEof SHEELICHO: interface gi2/0/1, switch-noE 2, QIE{H| O|A 5/0/112] &
S)

2 switch-no= 5 8).

HEED{2| WZ!0| FEXZ 83 M2 MEL|M g HE 7t syslogll &' JElL|CH

Pak recvd on LOGGA NG Q Local Port Fwding L3If: L2If:TenG gabitEthernetl1/0/1 DI:0x1F2A, LT:O,
VI an: 10  SrcGPN: 456, Srcd D: 456, ACLLogl dx: Ox1, MacDA: 0000. 0000. 0002, MacSA: 0000. 0000. 0001
Non (I Pv4/| Pv6/ ARP/ RARP)

TPFFD: F38001C8_000A400A 01A00080- 00011F2A F5F50000_00002BFD

Jun 7 15:37:24.482: Raw FEX packet Dunp:

Jun 7 15:37:24.482: 00 00 00 00 00 02 00 00 00 00

Jun 7 15:37:24.482: 00 01 89 26 80 01 OB FD 81 00

Jun 7 15:37:24.482: 00 OA 08 00 45 00 00 64 76 87

Jun 7 15:37:24.482: 00 00 FF 01 31 OF OA 00 00 01

Jun 7 15:37:24.482: OA 00 oo 02 08 00 A9 FF 00 12

12HIE(GHE 16Tl 2f2 A8 35H= < Instant Access B A0 VNTAG JLH A FHx)=E izl
oM M E CHe VIF 2o oH%*g.H—IEP Ol Zt(10ZI+=2 HAE)2 FEXQ| E2 X|HE AF83loi

4% HzELD

Ol BH2 F& x[™2 ZH™ste ol ArSELICH Ol BH2 RLIFHAE VIFE D4 LICHVNTAG
*PEIXPOH l:H°+ ZQOE 223 &1 FX),

FEX- 101#sh platform fex ucast-entries

vi f sw_i db port name GPN  handl e res_i ndex
1 0x5CAC278 G gabitEthernet1/0/1 1 0x5 0x30F0000
2 Ox5CAE2EQ G gabi t Et hernet 1/ 0/ 2 2 0x6 0x30F0000

HEIFHAE EcfEo| == o3 £ &Lt

1) 4 HE|FHAE VIFo| CHet o]zl QlE{mHo|A Elghe A ELICH



FEX- 101#sh platform fex ntast-entries

(...)

Entry : 2

Mcast VIF = 3072 : destid = Ox23DF : handl e = 0x37 : result_index = 0x4D

Destld 23DF details with GPN |ist

i ndex next flags cm #GPN GPN

0x23DF OxFFFF 0x00 0x0000 3 1 2 464

(...)

ol oflof M VIF=30729] 74 LI= GPN #iZ 2t 71 3742] 0| a3|A QIE{m oA 7 M| L
C}. 1,2 L 4642 ALR 5104 O[3t LIS GPN ZE #1532 S2|X QIE{H0|AR #HE e £ Q&L

Ct.

FEX- 101#show pl atform pm i f - nunbers
interface gid gpn Ipn port slot unit slun port-type |pn-idb gpn-idb

Gil/0/1 1 1 1 0/2 1 1 1 | ocal Yes Yes
Gil/0/2 2 2 2 0o/1 1 2 2 | ocal Yes Yes
(...)

Po2 464 464 O 16/0 9 2 2 | ocal No No

Olciet £2{2 LEFHAE e VIF7t 30722 Z 2 We 2 s 4lE mZlo] QlEjHo|A2 MEEE
o|d|grLIct. Gi1/0/1, Gi1/0/2 & Port-channel 2] L|C}.

4. 2

fexel gHAE EX7F QI B2, & B

M3
i
L=

FE|o] BRI [ TAC 7 o|A0f FIHELICE.

6880#show t ech- support

6880#show t ech-support fex infra
6880#attach fex <fex-id>
Password: cisco

FEX- 101>en

Password: cisco

FEX- 101#show t ech- support
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